MKTG 3710.001; Summer II (2003); Sample Questions for Exam-2


Sample Multiple Choice Questions
  1. Random sampling error
A. is the difference between a survey that includes only those who responded and a survey that also includes those who failed to respond.
B. does not occur in nonprobability samples.
C. results from the nature of a study's design and the inappropriate or random administration of the sampling process.
D. is a technical term that applies only to simple random sampling.
E. is a function of sample size. 
  2. Which of the following is not a true statement?
A. The availability of sampling frames varies in different countries.
B. It is difficult for researchers to build sampling frames in Japan and Taiwan, since those governments do not release census information.
C. Some nations do not conduct a census of population.
D. In some countries, census information is available through the local Inhabitants' Register.
E. All of the above are true. 
  3. Name a sampling procedure in which initial respondents are selected by probability methods, and then additional respondents are obtained from information provided by initial respondents.
A. Semi-random
B. Initial
C. Quota
D. Snowball 
  4. A researcher divides the population of product users into three groups based on degree of use. If the researcher then draws a random sample from each user group independently, she has created a _____ sample.
A. random
B. stratified
C. judgment
D. group data
E. quota 
  5. Stratified samples may be distinguished from quota samples because with a stratified sample, sample elements are selected
A. randomly.
B. judgmentally.
C. proportionately.
D. sequentially.
E. Sample elements are selected in the same manner for both types of samples. 
  6. If a researcher wishing to draw a sample from sequentially numbered invoices uses a random starting point, then draws every 50th invoice, he has thus drawn a _____ sample.
A. simple random
B. sequential
C. stratified
D. systematic
E. none of the above 
  7. When a sampling frame has a systematic pattern in the listing of sampling units, rather than a random pattern,
A. a systematic sample must be drawn.
B. the problem of periodicity exists.
C. a random error occurs.
D. a cluster sample must be used.
E. a sampling frame error occurs. 
  8. Suppose a researcher is concerned with a nominal scale that identifies users versus nonusers of bank credit cards. The measure of central tendency appropriate to this scale is the
A. mean.
B. median.
C. mode.
D. average.
E. range. 
  9. The variance
A. is a poor index of the degree of dispersion.
B. has a major drawback because it reflects a unit of measurement that has been squared.
C. is the squared root of the standard deviation.
D. is the average deviation squared. 
10. The formula µ =  (  ± a sampling error

A. expresses the idea of the cetral limit theorem.

B. Expresses the idea of the confidence interval.

C. Expresses the idea that a sample frame is not a perfect representation of the population.

D. None of the above.
 11. Which of the following is not needed in calculating a confidence interval for a population mean?
A. a point estimate of the population mean
B. an estimate of the population variance
C. a confidence level
D. All of the above are needed.
E. None of the above is needed. 
 12. A specific range of numbers within which a population mean should lie is
A. the range.
B. the confidence coefficient.
C. the confidence interval.
D. the confidence level. 
 13. Which of the following factors is not necessary in determining sample size?
A. estimated standard deviation of the population
B. magnitude of acceptable error
C. confidence level
D. All of the above are necessary. 
 14. Constructing a frequency distribution
A. is one of the most common means of summarizing data.
B. begins by recording the number of times a particular value occurs.
C. is the basis for construction of a percentage distribution.
D. all of the above
E. none of the above 
 15. If you wish to estimate the mean of a particular population, doubling the range of acceptable error will reduce sample size to _____ its original size.
A. one-half.
B. one-fourth.
C. twice.
D. It cannot be determined.
E. There is no relationship between changes in sample size and changes in acceptable error. 
 16. Before a confidence interval can be constructed around a sample proportion
A. the sample mean must be calculated.
B. an estimate of the standard error of the proportion (Sp) must be calculated.
C. the standard error of the mean is divided by the square root of n.
D. none of the above 
 17. The confidence interval for a proportion uses the following formula:
A. P ± Zc.l.SP
B. SP ±  ZP
C. XTO(X) ±  ZSX
D. none of the above 
 18. Calculate the sample standard deviation using the following data:
        X  
        4
        5
        2
        6
        4
        3
        4
The standard deviation is which of the following?
A. 10
B. 1.66
C. 1.20
D. 1
E. 0 
 19. Using the standardized normal table supplied with this exam determine what Z value would be used to set up a confidence interval at the 99 percent confidence level.
A. .01
B. 1.01
C. 1.65
D. 1.96
E. 2.57 
 20. Using the standardized normal table supplied with this exam determine what Z value would be used to set up a confidence interval at the 95 percent confidence level.
A. .05
B. 1.05
C. 1.65
D. 1.96
E. 2.57 
 21. The standard deviation
A. is the most valuable measure of spread or dispersion.
B. does not have the limitations of the average deviation.
C. does not have the drawbacks of the variance because its unit of measure is not squared, but is in the same unit of measure as the mean.
D. all of the above
E. none of the above 
 22. The practical result of the central limit theorem is that
A. researchers must take a large number of samples before inferences about the population can be made.
B. the researcher must know the shape of the population distribution before inferences about the population can be made.
C. small-sized samples should not be used in research.
D. the concept of the sampling distribution is unimportant to researchers.
E. none of the above 
 23. A frequency distribution (or probability distribution) of all possible values of sample means for a sample size of 200 is the
A. population distribution.
B. sample distribution.
C. sampling distribution.
D. standard normal distribution. 
24. The formula  Z = (X - µ)/σ where µ is the hypothesized or expected value of the mean, is

A. the formula for a confidence interval.

B. The way of making a linear transformation of any normal variable into a standard normal variable.

C. The formula for calculating the standard error of the mean.

D. The computation for estimating the value of the central limit theorem.
 25. A _____ distribution is a theoretical probability distribution that shows the functional relationship between the possible values of some summary characteristic of n cases drawn at random and the probability (density) associated with each value over all possible samples of size n from a particular population.
A. population
B. sample
C. sampling
D. standardized normal 
 26. Which of the following is not a step in calculation of the chi-square statistic?
A. Formulate the null hypothesis and determine the expected frequency of each answer.
B. Determine the appropriate significance level.
C. Calculate the sample mean.
D. Calculate the chi-square value. 
 27. Hypothesis tests are designed so that the _____ hypothesis will be rejected.
A. null
B. alternative
C. incorrect
D. alpha
E. beta 
 28. If you wanted to display graphically the relationship of one variable to another, you might use a:
A. Pie chart.
B. Table.
C. Line graph.
D. Data matrix.
E. Computer program such as SPSS. 
 29. In a contingency table, row and column totals are often called
A. simple tabulations.
B. cells.
C. marginals.
D. boxheads and stubheads respectively. 
 30. The process of changing the original form of the data to a format suitable to perform a data analysis is
A. cheating
B. formatting
C. data transformation
D. normalization
E. none of the above 
 31. In a percentage cross-tabulation the total number of respondents or observations may be used as a(n) _____ for computing the percentage in each cell.
A. index
B. base
C. centroid
D. cell total 
 32. In a percentage cross-tabulation, the conventional rule for determining the direction of the percentages (if the researcher has identified the independent and dependent variables) is to
A. compute the percentages in the direction of the independent variable.
B. compute the percentages in the direction of the dependent variable.
C. perform an elaboration analysis.
D. none of the above (there is no conventional rule.) 
 33. A _____ variable is a third variable that, when introduced into a cross-tabulation analysis, alters or has a contingent effect on the relationship between an independent and a dependent variable.
A. matrix
B. moderator
C. categorical
D. marginal 
 34. Which of the following statements about descriptive analysis is false?
A. For most projects, statistical analysis begins by reducing the raw data into a summary format.
B. Tabulation refers to the orderly arrangement of data in a table or other summary format.
C. Analyzing results by groups or categories is the technique of tabulation.
D. A frequency table is the arrangement of statistical data in a row and column format. 
 35. Regarding the difference between two groups when comparing proportions, _____ is the appropriate criterion for selecting either a t-test or a Z-test.
A. Value of the population standard deviation
B. Degrees of freedom
C. The coefficient of determination
D. Sample size
E. None of the above 
 36. When testing the difference between two proportions, the null hypothesis is usually that
A. proportion 1 is greater than proportion 2.
B. the population proportions are unequal.
C. the population proportions are equal.
D. the pooled proportion equals the pooled variance.
E. None of the above is an appropriate null hypothesis. 
 37. When there are three levels of an independent variable, the null hypothesis is that
A. the sum of the means is a minimum value.
B. mean 1 > mean 2 > mean 3.
C. the means are all unequal to each other.
D. the means are all equal.
E. A null hypothesis cannot be stated for three levels of an independent variable. 
 38. In the application of chi-square analysis, if the calculated chi-square value is larger than the tabular chi-square value, the researcher should
A. check for a math error.
B. accept the null hypothesis.
C. reject the null hypothesis.
D. use a different technique since chi-square is inappropriate.
E. multiply by n, the sample size. 
 39. When using the chi-square analysis in bivariate problems, degrees of freedom are calculated as (R=row and C=column)
A. (R - 1)(C - 1).
B. R x C + 1.
C. (R + 1)(C + 1).
D. R + (C - 1).
E. none of the above 
 40. Adding additional independent variables in a regression equation will
A. increase the value of the coefficient of multiple determination.
B. improve the predictive power of the equation.
C. reduce the predictive power of the equation.
D. Additional independent variables may not be added to a regression equation.
E. none of the above 
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	Which of the following languages is more suited to a structured program?

	A.
PL/1

B.
FORTRAN

C.
BASIC

D.
PASCAL

E.
None of the above

Answer: Option D

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 




	2. 
	A computer assisted method for the recording and analyzing of existing or hypothetical systems is

	
	A.
Data transmission

B.
Data flow

C.
Data capture

D.
Data processing

E.
None of the above

Answer: Option B

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 




	3. 
	The brain of any computer system is

	
	A.
ALU

B.
Memory

C.
CPU



	
	An optical input device that interprets pencil marks on paper media is

	
	A.
O.M.R

B.
Punch card reader

C.
Optical scanners

D.
Magnetic tape

E.
None of the above

Answer: Option A

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 




	3. 
	Most important advantage of an IC is its

	
	A.
Easy replacement in case of circuit failure

B.
Extremely high reliability

C.
Reduced cost

D.
Low power consumption

E.
None of the above

Answer: Option B

Explanation:

	A billionth of a second is defined as a:

	A.
millisecond

B.
microsecond

C.
nanosecond

D.
picoseconds

E.
None of the above

Answer: Option C

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 




	7. 
	Which of the following is not currently a topic in computer science?

	
	A.
Speech recognition

B.
Artificial intelligence

C.
Thermodynamics

D.
Multiprocessing

E.
None of the above

Answer: Option C

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 




	8. 
	Where have the program and data to be located before the ALU and control unit of a computer can operate on it?

	
	A.
Internal memory

B.
Secondary memory

C.
Microprocessor

D.
Magnetic tapes

E.
None of the above

View Answer Discuss in Forum Workspace Report 




	9. 
	When was Apple Macintosh II microcomputer introduced in the market?

	
	A.
1964

B.
1970

C.
1983

D.
1986

E.
None of the above

View Answer Discuss in Forum Workspace Report 




	10. 
	Control Unit of a digital computer is often called the

	
	A.
Clock

B.
Nerve center

C.
ICs

D.
All of the above

E.
None of the above

Answer: Option B

	1. 
	The unit of a computer system that executes program, communicates with and often controls the operation of other subsystems of the computer is known as

	
	A.
CPU

B.
Control Unit

C.
I/O unit

D.
Peripheral unit

E.
None of the above

Answer: Option A

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 




	12. 
	Human beings are referred to as Homosapiens. Which device is called Silico sapiens?

	
	A.
Monitor

B.
Hardware

C.
Robot

D.
Computer

E.
None of the above

Answer: Option D

	
	Which of the following is used to insure the high quality of computer output?

	
	A.
computer output microfilm

B.
output controls

C.
voice output systems

D.
liquid crystal display

E.
None of the above

View Answer Discuss in Forum Workspace Report 




	18. 
	The most common binary code in use today is the 8 bit ASCII code. What do the letters ASCII stand for?

	
	A.
American Standard Code for International Interchange

B.
American Standard Code for Information Interchange

C.
American Standard Code for Intelligence Interchange

D.
American Scientific Code for Information Interchange

E.
None of the above

Answer: Option B

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 




	19. 
	The software used to convert source program instructions to object instruction is known as

	
	A.
Compiler

B.
Assembler

C.
Interpreter

D.
Language processor

E.
None of the above

Answer: Option D

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 




	20. 
	Binary numbers need more places for counting because:

	
	A.
0's and 1's can be added in front of them

B.
0's and 1's have to be properly placed

C.
They are always big numbers

D.
Binary base is small
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E.
None of the above

Answer: Option D

Explanation:

No answer description available for this question. Let us discuss. 

View Answer Discuss in Forum Workspace Report 

	
	Empirical

	Question 1


Which of the following is not a correct statement about a probability.

	A
	It must have a value between 0 and 1

	B
	It can be reported as a decimal or a fraction

	C
	A value near 0 means that the event is not likely to occur/happens

	D
	It is the collection of several experiments.

	Question 2


If you roll a pair of dice, what is the probability that (at least) one of the dice is a 4 or the sum of the dice is 7?

	A
	4/36

	B
	13/36

	C
	21/36

	D
	15/36


	Question 3


The collection of one or more outcomes from an experiment is called

	A
	Probability

	B
	Event

	C
	Random Variable

	D
	Z-Value

	E
	Random Experiment

	Question 4


In which approach to probability the outcomes are equally likely to occur?

	A
	Classical Probability 

	B
	Subjective Probability

	C
	Relative Frequency

	D
	Independent


	Question 5


In a Poisson probability distribution

	A
	The mean and variance of the distribution are same (equal)

	B
	The probability of success is always greater than 5

	C
	The number of trials is always less than 5

	D
	It always contains a contingency table

	Question 6


Which of the following is not a condition of the binomial distribution?

	A
	Only 2 possible outcomes

	B
	have constant probability of success

	C
	must have at least 3 trials

	D
	trials must be independent


	Question 7


In special rule of addition of probability, the events are always

	A
	Independent events

	B
	Mutually Exclusive events

	C
	Bayesian

	D
	Empirical 

	Question 8


If a card is chosen from a standard deck of cards, what is the probability of getting a five or a seven?

	A
	4/52

	B
	1/26

	C
	8/52

	D
	1/169


	Question 9


The the special rule of multiplication of probability, the events must be

	A
	Independent

	B
	Mutually exclusive

	C
	Bayesian

	D
	Empirical 

	Question 10


If a card is chosen from a standard deck of cards, what is the probability of getting a diamond (♦) or a club(♣)?

	A
	26/52=1/2

	B
	13/52

	C
	20/52

	D
	12/52


	Question 11


Which of the following is not an example of a discrete probability distribution?

	A
	The sale or purchase price of a house

	B
	The number of bedrooms in a house

	C
	The number of bathrooms in a house

	D
	Whether or not a home has a swimming pool in it.

	Question 12


A listing of the possibile outcomes of an experiment and their corresponding probability is called

	A
	Random Variable

	B
	Contingency table

	C
	Bayesian table

	D
	Probability distribution

	E
	Frequency distribution


	Question 13


The joint probability is

	A
	The likelihood of two events happening together

	B
	The likelihood of an event happening given that another event has already happened

	C
	Based on two mutually exclusive events

	D
	Also called Prior probability

	Question 14


If the occurrence of one event means that another cannot happen, then the events are

	A
	Independent

	B
	Mutually Exclusive

	C
	Bayesian

	D
	Empirical
Basic Statistics

Question 1 Explanation: 

CV=SDMean×100
Question 2

Wrong 

The mean of a distribution is 23, the median is 24, and the mode is 25.5. It is most likely that this distribution is:

Positively Skewed

Symmetrical

Asymptotic

Negatively Skewed

Question 2 Explanation: 

For Negative Skewed Mean is likely to be less than mode and median

Question 3

Wrong 

Which of the following describe the middle part of a group of numbers?

Measure of Variability

Measure of Central Tendency

Measure of Association

Measure of Shape

Question 4

Wrong 

According to the empirical rule, approximately what percent of the data should lie within μ±2σ
?

75%

68%

99.7%

90%

95%

Question 5

Wrong 

The sum of the deviations about the mean is always:

Range

Zero

Total Standard Deviation

Positive

Negative

Question 6

Correct 

The middle value of an ordered array of numbers is the

Mode

Mean

Median

MidPoint

Question 7

Correct 

Which of the following is not a measure of central tendency?

Percentile 

Quartile

Standard deviation 

Mode

Question 7 Explanation: 



	The mean of a distribution is 14 and the standard deviation is 5. What is the value of the coefficient of variation?

A

60.4%

B

48.3%

C

35.7%

D

27.8%

Question 2

The mean of a distribution is 23, the median is 24, and the mode is 25.5. It is most likely that this distribution is:

The middle value of an ordered array of numbers is the

A

Mode

B

Mean

C

Median

D

MidPoint

Question 7

Which of the following is not a measure of central tendency?

A

Percentile 

B

Quartile

C

Standard deviation 

D

Mode

Question 8

Which of the following divides a group of data into four subgroups?

A

Percentiles

B

Deciles

C

Median

D

Quartiles
E

Standard Deviation

Question 9

If the standard deviation of a population is 9, the population variance is:

A

9

B

3

C

21

D

81

Question 10

If a distribution is abnormally tall and peaked, then is can be said that the distribution is:

A

leptokurtic

B

pyrokurtic

C

platykurtic 

D

mesokurtic

Question 11

Sum of dots when two dice are rolled is

A

a discrete variable

B

a continuous variable

C

a constant

D

a qualitative variable

Question 12

The weights of students in a college/school is a

A

Discrete Variable

B

Continuous Variable

C

Qualitative Variable

D

None of these

Question 13

The number of accidents in a city during 2010 is

A

Discrete variable

B

Continuous variable

C

Qualitative variable

D

Constant

Question 14

Which of these represent qualitative data

A

Height of a student

B

Liking or disliking of (500) persons of a product

C

Income of a government servant in a city

D

Yield from a wheat plot

Question 15

Life of a T.V picture tube is a

A

Discrete variable

B

Continuous variable

C

Qualitative variable

D

Constant

Question 16

The first hand and unorganized form of data is called

A

Secondary data

B

Organized data

C

Primary data

D

None of these

Question 17

The data which have already been collected by some one are called

A

Raw data

B

Array data

C

Secondary data

D

Fictitious data

Question 18

Census reports used as a source of data is

A

Primary source

B

secondary source

C

Organized data

D

none

Question 19

The grouped data is also called

A

Raw data

B

Primary data

C

Secondary data

D

Qualitative data

Question 20

Primary data and _____________ data are same

A

Grouped

B

Secondary data

C

Ungrouped

D

None of these

Question 21

Questionnaire survey method is used to collect

A

Secondary data

B

Qualitative variable

C

Primary data

D

None of these

Question 22

Data collected by NADRA to issue computerized identity cards (CICs) are

A

Unofficial data

B

Qualitative data

C

Secondary data

D

Primary data

E

None of these

Question 23

Population census is conducted through

A

Sample survey

B

Accounting

C

Investigation

D

Complete enumeration

Question 24

A parameter is a measure which is computed from

A

Population data

B

Sample data

C

Test statistics

D

None of these

Question 25

Given X1=12,X2=19,X3=10,X4=7


, then ∑4i=1
equals?  

	A
	36

	B
	48

	C
	41

	D
	29

	E
	None of these

	Question 26


A chance variation in an observational process is

	A
	Dispersion/ Variability

	B
	Measurement error

	C
	Random error

	D
	Instrument error


	Question 27


A constant variable can take values

	A
	Zero

	B
	Fixed

	C
	Not fixed

	D
	nothing


Once you are finished, click the button b


General Reasoning Questions
	
	Elated is to despondent as enlightened is to

	
	A.
aware

B.
ignorant

C.
miserable

D.
tolerant

Answer: Option B
Explanation:
Elated is the opposite of despondent; enlightened is the opposite of ignorant. 

View Answer Discuss in Forum Workspace Report 




	7. 
	Optimist is to cheerful as pessimist is to

	
	A.
gloomy

B.
mean

C.
petty

D.
helpful

Answer: Option A
Explanation:
An optimist is a person whose outlook is cheerful. A pessimist is a person whose outlook is gloomy. The answer is not (choice b) because a pessimist does not have to be mean. (Choices c) and d are incorrect because neither adjective describes the outlook of a pessimist. 

View Answer Discuss in Forum Workspace Report 




	8. 
	Reptile is to lizard as flower is to

	
	A.
petal

B.
stem

C.
daisy
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D.
alligator

Answer: Option C
Explanation:
A lizard is a type of reptile; a daisy is a type of flower. Choices a and b are incorrect because a petal and a stem are parts of a flower, not types of flowers. (Choice d) is incorrect because an alligator is another type of reptile, not a type of flower. 

View Answer Discuss in Forum Workspace Report 




	9. 
	Play is to actor as concert is to

	
	A.
symphony

B.
musician

[image: image3.png]



C.
piano

D.
percussion

Answer: Option B
Explanation:
An actor performs in a play. A musician performs at a concert. Choices a, c, and d are incorrect because none is people who perform. 

View Answer Discuss in Forum Workspace Report 




	10. 
	Sponge is to porous as rubber is to

	
	A.
massive

B.
solid

C.
elastic
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D.
inflexible

Answer: Option C
Explanation:
A sponge is a porous material. Rubber is an elastic material. (Choice a) is incorrect because rubber would not generally be referred to as massive. The answer is not (choice b) because even though rubber is a solid, its most noticeable characteristic is its elasticity. Choice d is incorrect because rubber has flexibility. 

Aptitude

Choose the picture that would go in the empty box so that the two bottom pictures are related in the same way as the top two are related. 

1. 
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A.
1
B.
2
C.
3
D.
4
Answer: Option A
Explanation:
Hand is to ring as head is to cap. A ring is worn on a person's hand; a cap is worn on a person's head. 
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2. 
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A.
1
B.
2
C.
3
D.
4
Answer: Option D
Explanation:
Car is to horse and buggy as computer is to pen and ink. This relationship shows the difference between modern times and times past. 
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B.
2
C.
3
D.
4
Answer: Option A
Explanation:
Cup is to bowl as vacuum cleaner is to broom. This is another relationship about function. The cup and bowl are both used for eating. The vacuum cleaner and broom are both used for cleaning. 
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A.
1
B.
2
C.
3
D.
4
Answer: Option B
Explanation:
Towel is to bathtub as chest of drawers is to bed. The towel and bathtub are both found in a bathroom; the chest and the bed are both found in a bedroom. 
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5. 
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A.
1
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B.
2
C.
3
D.
4
Answer: Option A
Explanation:
Grapes are to a pear as cheese is to butter. This relationship shows the grouping or category to which something belongs. Grapes and pears are fruit; cheese and butter are both dairy products. 

Vie
Every one of the following questions consists of a related pair of words, followed by five pairs of words. Choose the pair that best represents a similar relationship to the one expressed in the original pair of words. 

1. 

BINDING : BOOK

A.
criminal : gang

B.
display : museum

C.
artist : carpenter

D.
nail : hammer

E.
frame : picture

Answer: Option E
Explanation:
A binding surrounds a book; a frame surrounds a picture. 
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2. 

EXPLORE : DISCOVER

A.
read : skim

B.
research : learn

C.
write : print

D.
think : relate

E.
sleep : wake

Answer: Option B
Explanation:
One explores to discover; one researches to learn. 
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3. 

SIAMESE : CAT

A.
type : breed

B.
dog : puppy

C.
mark : spot

D.
romaine : lettuce

E.
collar : leash

Answer: Option D
Explanation:
Siamese is a kind of cat; romaine is a kind of lettuce. 
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4. 

FINCH : BIRD

A.
frog :toad

B.
elephant : reptile

C.
Dalmatian : dog

D.
collie : marsupial

E.
ant : ladybug

Answer: Option C
Explanation:
A finch is a type of bird; a Dalmatian is a type of dog. 
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5. 

PETAL : FLOWER

A.
salt : pepper

B.
tire : bicycle

C.
base : ball

D.
sandals : shoes

E.
puppy : dog

Answer: Option B
Explanation:
A petal is a part of a flower; a tire is a part of a bicycle. 

View Answer Discuss in Forum 

Question on Numbers

If one-third of one-fourth of a number is 15, then three-tenth of that number is: 

A.
35

B.
36

C.
45

D.
54
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Answer: Option D
Explanation:
Let the number be x.

Then,

1

of

1

of x = 15    [image: image13.png]


  x = 15 x 12 = 180.

3

4

So, required number = 

[image: image14.png]



3

x 180
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= 54.

10
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2. 

Three times the first of three consecutive odd integers is 3 more than twice the third. The third integer is:

A.
9

B.
11

C.
13

D.
15

Answer: Option D
Explanation:
Let the three integers be x, x + 2 and x + 4.

Then, 3x = 2(x + 4) + 3   [image: image16.png]


   x = 11.

[image: image17.png]


Third integer = x + 4 = 15.
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3. 

The difference between a two-digit number and the number obtained by interchanging the positions of its digits is 36. What is the difference between the two digits of that number? 

A.
3

B.
4

C.
9

D.
Cannot be determined

E.
None of these

Answer: Option B
Explanation:
Let the ten's digit be x and unit's digit be y.

Then, (10x + y) - (10y + x) = 36

[image: image18.png]


9(x - y) = 36

[image: image19.png]


x - y = 4.
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4. 

The difference between a two-digit number and the number obtained by interchanging the digits is 36. What is the difference between the sum and the difference of the digits of the number if the ratio between the digits of the number is 1 : 2 ? 

A.
4

B.
8

C.
16

D.
None of these

Answer: Option B
Explanation:
Since the number is greater than the number obtained on reversing the digits, so the ten's digit is greater than the unit's digit.

Let ten's and unit's digits be 2x and x respectively.

Then, (10 x 2x + x) - (10x + 2x) = 36

[image: image20.png]


9x = 36 
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x = 4.

[image: image22.png]


Required difference = (2x + x) - (2x - x) = 2x = 8.
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5. 

A two-digit number is such that the product of the digits is 8. When 18 is added to the number, then the digits are reversed. The number is: 

A.
18

B.
24

C.
42

D.
81

Answer: Option B
Explanation:
Let the ten's and unit digit be x and

8

respectively.

x
Then,
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10x +

8
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+ 18 = 10 x

8

+ x
x
x
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10x2 + 8 + 18x = 80 + x2
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9x2 + 18x - 72 = 0
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x2 + 2x - 8 = 0
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(x + 4)(x - 2) = 0

[image: image29.png]


x = 2.
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6. 

The sum of the digits of a two-digit number is 15 and the difference between the digits is 3. What is the two-digit number? 

A.
69

B.
78

C.
96

D.
Cannot be determined

E.
None of these

Answer: Option D
Explanation:
Let the ten's digit be x and unit's digit be y.

Then, x + y = 15 and x - y = 3   or   y - x = 3.

Solving x + y = 15   and   x - y = 3, we get: x = 9, y = 6.

Solving x + y = 15   and   y - x = 3, we get: x = 6, y = 9.

So, the number is either 96 or 69.

Hence, the number cannot be determined. 
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7. 

The sum of the squares of three numbers is 138, while the sum of their products taken two at a time is 131. Their sum is: 

A.
20

B.
30

C.
40

D.
None of these

Answer: Option A
Explanation:
Let the numbers be a, b and c.

Then, a2 + b2 + c2 = 138 and (ab + bc + ca) = 131.

(a + b + c)2 = a2 + b2 + c2 + 2(ab + bc + ca) = 138 + 2 x 131 = 400.
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(a + b + c) = 400 = 20.
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8. 

A number consists of two digits. If the digits interchange places and the new number is added to the original number, then the resulting number will be divisible by: 

A.
3

B.
5

C.
9

D.
11

Answer: Option D
Explanation:
Let the ten's digit be x and unit's digit be y.

Then, number = 10x + y.

Number obtained by interchanging the digits = 10y + x.

[image: image31.png]


(10x + y) + (10y + x) = 11(x + y), which is divisible by 11.
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9. 

In a two-digit, if it is known that its unit's digit exceeds its ten's digit by 2 and that the product of the given number and the sum of its digits is equal to 144, then the number is: 

A.
24

B.
26

C.
42

D.
46

Answer: Option A
Explanation:
Let the ten's digit be x.

Then, unit's digit = x + 2.

Number = 10x + (x + 2) = 11x + 2.

Sum of digits = x + (x + 2) = 2x + 2.
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(11x + 2)(2x + 2) = 144
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22x2 + 26x - 140 = 0
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11x2 + 13x - 70 = 0

[image: image35.png]


(x - 2)(11x + 35) = 0

[image: image36.png]


x = 2.

Hence, required number = 11x + 2 = 24.
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10. 

Find a positive number which when increased by 17 is equal to 60 times the reciprocal of the number. 

A.
3

B.
10

C.
17

D.
20

Answer: Option A
Explanation:
Let the number be x.

Then, x + 17 =

60

x
[image: image37.png]


x2 + 17x - 60 = 0
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(x + 20)(x - 3) = 0

[image: image39.png]


x = 3.
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11. 

The product of two numbers is 9375 and the quotient, when the larger one is divided by the smaller, is 15. The sum of the numbers is: 

A.
380

B.
395

C.
400

D.
425

Answer: Option C
Explanation:
Let the numbers be x and y.

Then, xy = 9375 and

x
= 15.

y
xy
=

9375

(x/y)

15
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y2 = 625.
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y = 25.

[image: image42.png]


x = 15y = (15 x 25) = 375.

[image: image43.png]


Sum of the numbers = x + y = 375 + 25 = 400.
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12. 

The product of two numbers is 120 and the sum of their squares is 289. The sum of the number is: 

A.
20

B.
23

C.
169

D.
None of these

Answer: Option B
Explanation:
Let the numbers be x and y.

Then, xy = 120 and x2 + y2 = 289.
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(x + y)2 = x2 + y2 + 2xy = 289 + (2 x 120) = 529

[image: image45.png]


x + y = 529 = 23.
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13. 

A number consists of 3 digits whose sum is 10. The middle digit is equal to the sum of the other two and the number will be increased by 99 if its digits are reversed. The number is: 

A.
145

B.
253

C.
370

D.
352

Answer: Option B
Explanation:
Let the middle digit be x.

Then, 2x = 10 or x = 5. So, the number is either 253 or 352.

Since the number increases on reversing the digits, so the hundred's digits is smaller than the unit's digit.

Hence, required number = 253.
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14. 

The sum of two number is 25 and their difference is 13. Find their product. 

A.
104

B.
114

C.
315

D.
325

Answer: Option B
Explanation:
Let the numbers be x and y.

Then, x + y = 25 and x - y = 13.

4xy = (x + y)2 - (x- y)2
   = (25)2 - (13)2 

   = (625 - 169)

   = 456
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xy = 114.
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15. 

What is the sum of two consecutive even numbers, the difference of whose squares is 84? 

A.
34

B.
38

C.
42

D.
46

Answer: Option C
Explanation:
Let the numbers be x and x + 2.

Then, (x + 2)2 - x2 = 84
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4x + 4 = 84
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4x = 80
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x = 20.

[image: image50.png]


The required sum = x + (x + 2) = 2x + 2 = 42.




	sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The sum is: 

	A.
Rs. 650

B.
Rs. 690

C.
Rs. 698

D.
Rs. 700
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	2. 
	Mr. Thomas invested an amount of Rs. 13,900 divided in two different schemes A and B at the simple interest rate of 14% p.a. and 11% p.a. respectively. If the total amount of simple interest earned in 2 years be Rs. 3508, what was the amount invested in Scheme B? 

	
	A.
Rs. 6400

B.
Rs. 6500

C.
Rs. 7200

D.
Rs. 7500

E.
None of these
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	3. 
	A sum fetched a total simple interest of Rs. 4016.25 at the rate of 9 p.c.p.a. in 5 years. What is the sum? 

	
	A.
Rs. 4462.50

B.
Rs. 8032.50

C.
Rs. 8900

D.
Rs. 8925

E.
None of these
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	4. 
	How much time will it take for an amount of Rs. 450 to yield Rs. 81 as interest at 4.5% per annum of simple interest? 

	
	A.
3.5 years

B.
4 years

C.
4.5 years

D.
5 years
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	5. 
	Reena took a loan of Rs. 1200 with simple interest for as many years as the rate of interest. If she paid Rs. 432 as interest at the end of the loan period, what was the rate of interest? 

	
	A.
3.6

B.
6

C.
18

D.
Cannot be determined

E.
None of these
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The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book. Study the pie-chart and the answer the questions based on it.

Various Expenditures (in percentage) Incurred in Publishing a Book
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	1. 
	If for a certain quantity of books, the publisher has to pay Rs. 30,600 as printing cost, then what will be amount of royalty to be paid for these books?

	
	A.
Rs. 19,450

B.
Rs. 21,200

C.
Rs. 22,950

D.
Rs. 26,150

Answer: Option C

Explanation:

Let the amount of Royalty to be paid for these books be Rs. r.

Then, 20 : 15 = 30600 : r     [image: image52.png]


    r = Rs.
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30600 x 15

[image: image54.png]



= Rs. 22,950.

20




tudy the following line graph and answer the questions.

Exports from Three Companies Over the Years (in Rs. crore)
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	1. 
	For which of the following pairs of years the total exports from the three Companies together are equal?

	
	A.
1995 and 1998

B.
1996 and 1998

C.
1997 and 1998

D.
1995 and 1996

Answer: Option D

Explanation:

Total exports of the three Companies X, Y and Z together, during various years are:

In 1993 = Rs. (30 + 80 + 60) crores = Rs. 170 crores.

In 1994 = Rs. (60 + 40 + 90) crores = Rs. 190 crores.

In 1995 = Rs. (40 + 60 + 120) crores = Rs. 220 crores.

In 1996 = Rs. (70 + 60 + 90) crores = Rs. 220 crores.

In 1997 = Rs. (100 + 80 + 60) crores = Rs. 240 crores.

In 1998 = Rs. (50 + 100 + 80) crores = Rs. 230 crores.

In 1999 = Rs. (120 + 140 + 100) crores = Rs. 360 crores.

Clearly, the total exports of the three Companies X, Y and Z together are same during the years 1995 and 1996.
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	2. 
	Average annual exports during the given period for Company Y is approximately what percent of the average annual exports for Company Z?

	
	A.
87.12%

B.
89.64%

C.
91.21%

D.
93.33%
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	3. 
	In which year was the difference between the exports from Companies X and Y the minimum?

	
	A.
1994

B.
1995

C.
1996

D.
1997

Answer: Option C

Explanation:

The difference between the exports from the Companies X and Y during the various years are:

In 1993 = Rs. (80 - 30) crores = Rs. 50 crores.

In 1994 = Rs. (60 - 40) crores = Rs. 20 crores.

In 1995 = Rs. (60 - 40) crores = Rs. 20 crores.

In 1996 = Rs. (70 - 60) crores = Rs. 10 crores.

In 1997 = Rs. (100 - 80) crores = Rs. 20 crores.

In 1998 = Rs. (100 - 50) crores = Rs. 50 crores.

In 1999 = Rs. (140 - 120) crores = Rs. 20 crores.

Clearly, the difference is minimum in the year 1996.

	1. 
	Which one of the following is not a prime number?

	
	A.
31

B.
61

C.
71

D.
91

Answer: Option D

Explanation:

91 is divisible by 7. So, it is not a prime number. 

View Answer Discuss in Forum Workspace Report 




	2. 
	(112 x 54) = ? 

	
	A.
67000

B.
70000

C.
76500

D.
77200
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	3. 
	It is being given that (232 + 1) is completely divisible by a whole number. Which of the following numbers is completely divisible by this number?

	
	A.
(216 + 1)

B.
(216 - 1)

C.
(7 x 223)

D.
(296 + 1)
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	4. 
	What least number must be added to 1056, so that the sum is completely divisible by 23 ?

	
	A.
2

B.
3

C.
18

D.
21

E.
None of these

Answer: Option A

Explanation:

 23) 1056 (45

      92

      ---

      136

      115

      ---

       21

      ---

 Required number = (23 - 21)    

                 = 2.   
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	5. 
	1397 x 1397 = ? 

	
	A.
1951609

B.
1981709

C.
18362619

D.
2031719

E.
None of these
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	6. 
	How many of the following numbers are divisible by 132 ?
264, 396, 462, 792, 968, 2178, 5184, 6336

	
	A.
4

B.
5

C.
6

D.
7
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	7. 
	(935421 x 625) = ? 

	
	A.
575648125

B.
584638125

C.
584649125

D.
585628125
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	8. 
	The largest 4 digit number exactly divisible by 88 is:

	
	A.
9944

B.
9768

C.
9988

D.
8888

E.
None of these
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	9. 
	Which of the following is a prime number ? 

	
	A.
33

B.
81

C.
93

D.
97

Answer: Option D

Explanation:

Clearly, 97 is a prime number. 
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	10. 
	What is the unit digit in {(6374)1793 x (625)317 x (341491)}?

	
	A.
0 

B.
2

C.
3

D.
5
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	28. 
	If n is a natural number, then (6n2 + 6n) is always divisible by: 

	
	A.
6 only

B.
6 and 12 both

C.
12 only 

D.
by 18 only

Answer: Option B

Explanation:

(6n2 + 6n) = 6n(n + 1), which is always divisible by 6 and 12 both, since n(n + 1) is always even.

	. 
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+ ... up to n terms = ?

n
n
n


	
	A.
1

n
2

B.
1

(n - 1)

2

C.
1

n(n - 1)

2

D.
None of these

Answer: Option B

Explanation:

Given sum

= (1 + 1 + 1 + ... to n terms)

-
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n

n

n

= n -

n
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    [ Ref: nth terms = (n/n) = 1]

2

n
= n -

n + 1

2

=

1

(n - 1)
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	The sum of even numbers between 1 and 31 is: 

	A.
6

B.
28

C.
240

D.
512

Answer: Option C

Explanation:

Let Sn = (2 + 4 + 6 + ... + 30). This is an A.P. in which a = 2, d = 2 and l = 30

Let the number of terms be n. Then,

a + (n - 1)d = 30

  [image: image66.png]


   2 + (n - 1) x 2 = 30 
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  n = 15.
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Sn =

n

(a + l)

=

15

x (2 + 30) = (15 x 16) = 240.

2

2
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	666 ÷ 6 ÷ 3 = ? 

	
	A.
37

[image: image69.png]



B.
333

C.
111

D.
84

E.
None of these

Answer: Option A

Explanation:



	The Vedas contain all the truth was interpreted by

	A.
Swami Vivekananda

B.
Swami Dayananda

C.
Raja Rammohan Roy

D.
None of the above

Answer: Option B

	Universities in the Presidency towns in India were established in

	A.
1857

B.
1858

C.
1900

D.
1909

Answer: Option A

	 
	Solar eclipse will take place when

	
	A.
the sun is between the moon and the earth

B.
the earth is between the moon and the sun

C.
the moon is between the sun and the earth

D.
the moon does not lie on the line joining the sun and the earth

Answer: Option C

	Sir C.V. Raman was awarded Nobel Prize for his work connected with which of the following phenomenon of radiation?

	A.
Scattering

B.
Diffraction

C.
Interference

D.
Polarization

Answer: Option A

	
	'OS' computer abbreviation usually means ?

	
	A.
Order of Significance

B.
Open Software

C.
Operating System

D.
Optical Sensor

Answer: Option C

	
	'.MOV' extension refers usually to what kind of file?

	
	A.
Image file

B.
Animation/movie file

C.
Audio file

D.
MS Office document

Answer: Option B

	Which is a type of Electrically-Erasable Programmable Read-Only Memory?

	A.
Flash

B.
Flange

C.
Fury

D.
FRAM

Answer: Option A
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